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. Which of the following reef is formed in deep ocean?
a.  Barrier reef b. Atoll
¢ Fringing d. None

- Which of the following industries plays a major role in polluting air and increasing air
pollution?
a. Brick manufacturing industries b. Manufacture of gases industries
¢. Electrical appliances and electrical d.

All of the ab
goods industries kil e

Which of the following are the primary causes of water pollution?
a. Plants b. Animals
¢. Human activities d. None of these
Which of the following is mainly responsible for the causes of water pollution?
a. Afforestation b. Oil refineries
c. Paper factories d. Bothbandc
- Which one of the following ecosystems has the highest primary production?
a. Agricultural land b. Fresh water swamps and marshes
¢. Mid-latitude grasslands d. Taiga forests
. Which one of the following elements is lowest in the Global living matter?
a. Carbon b. hydrogen
¢. Nitrogen d. Oxygen

Transformation and transfer of food energy in the ecosysiem from one group of
organisms to the other group through a series of steps or leveis is called e

a. Food chain b. Food web
¢. Food energy d. Trophic energy
. Consider the following statements and select the correct answer using, the code given
below:
1. Phosphorus is abundant in nature
2. Phosphorus is an excretory product
3.  Phosphorus cycle can be disrupted by the use of chemical fertilizers
4. Phosphates in the soil are taken into the plant for protection.
Code:
a. 1,2and 3 are correct b. 1,3 and 4 are correct
¢. 2,3 and 4 are correct d. 1,2,3 and 4 are correct

A biome is characterized with continental climate, high annual range of temperature
and water surplus throughout the year. These are the characteristics of which one of
the following biomes:

a. Boreal biome b. Equatorial biome
¢. Monsoon biome d. Savanna biome
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